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— 199 P9TM YXNAT 24 DY N 771027 11 77U NIIAN N2
A cow; subject to R119R is exempt from 777152 even if he can divest him

OVERVIEW
Initially the X7n3 cited 827 as saying that a X1139& N2 is 70 from 7752 if "X KY
7% P07, however if 72 P07 %37 it is 771922 N2»n. The X793 then cites an MART XX
that X297 maintains X1117X D72 1s always 771227 0 9709 while an X118 NOYY is
always 17712 n2>°n. Our Mmoo will discuss the difficulties in this statement of the
T"X.
*

mooIn cites the anticipated question and answer given by >"wA:

— NN N0 22T 10‘1\9)1?;‘! V99 NN NINT KM
And that which the Xn>"92 (cited previously in our X713) taught concerning X117
that there is an obligation of 77122 (which seemingly contradicts the »R7 X2°X of
X217 that X1119R nna2 is always 7709 even if 2 phon “xn), v"'w1 explained that

Xn92 is discussing a dough of x1117% (meaning that an X1119% no*Y is 7912 N2»1); however
a RNIIR N1 is always 7109 from 77132 even if 12 7% phon “xn.

mooIn disagrees with >"wA:
—*DN9aN 13 PYNY 19399 AU

And the R''2w1 has a difficulty with s""v1 explanation that a X113I8 N2 is always 7709

from 717102 (even if 112 797 PHOY ¥n) -
— 19921 NArnNg 3NﬂﬂV1ﬂ: N7N2 NIH 919N %3N NOT

For concerning a cow it is explicitly taught in the Xnson that a X11179% N2 is

771222 D291, How can "1 maintain that all X1119X nna2 are 771322 77109 when it clearly states
in the ¥nN501N that X111IX N2 is 771222 n2»n?!

— 1199 PYON S8 NYT 23 YY S9N NYNA NAN NMIIN NDOY “NOIN NOOY 23 Y19

' novy "7 10,

? Others maintain that it should read o"2w~.

?2"72"s Mo

4 According to the X"2w";1 MvOIN (as interpreted in the Xaw 277 MiANT), 5" Md0IN [and w"&Y7 MooIN] there is now an
attempt to change the X073 in the 7"X (on account of the contradiction from the Xn»72 in the Xndo1N); The new Xo7"3
is that X217 maintains that X118 N2 is always 771922 20 (even if 772 P70 *¥n KY) thus explaining the Xnvo1n and
XN*72 where it states N2>, and X118 No°y is always 7Mws (even if 77 PHon *¥n &?). The reason for the difference
between nnm2 and 10°y (according to this X07°3) is that a X?p 7% n°K 7172 so everyone knows that a 132 was born
(however they may not know that it is an X117R), therefore it is improper to treat the 32 as 1°277; however 721 has
no 7y, people are not aware that someone is baking, therefore it is 777177 12 7709 since it is a X1139% nn. To this new
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And similarly concerning dough, the 8ns"92 teaches that X198 nosy is na»n
7oma even if 799 phon vxn &Y.’

mooIn offers an alternate X073 in order to resolve the issue:®
— 1199 PYON 8N RYT NINI NIV NININ NNNA YD9NT D190 N)

And there are some texts that read in the X7 X2°R of X217 that ‘a RN nNBoa is

exempt from 77122 only in a case where ;9% phon 31 &5.”
51199930 Y MAYMHN HT 299

And according to this reading both nin»12 are reconciled"'.

SUMMARY

According to "wA the 7"X of X297 maintains that a X1117X nNnA2 is always 2 797109
77227 and the Xn>72 which states N2»n is discussing an XN No°Y which is
always 11212 na»n.

N0 maintains that the 7"X of X217 agrees with the P"7 that a X1119% NP2 is 77WD
7710277 11 only when 12 P02 °¥n X?; however an R11IR NOY is always 712n2 n2»n.

THINKING IT OVER
What is the difficulty in this 11901 that the X"w77 and others'” address?

reading nooIN responds that it is also contradicts a Xn>>12 that clearly states X1119R no*Y is 7212 20 (even if *¥n K
% phon). The &n>12 of na contradicts our X071 and the &n*12 of 70y contradicts this proposed new &07°3. See the
(i) R"wnan for an entirely different explanation of this maoin.

> 3" X"D 79MT RNDOIN.

% See footnote # 11.

7 This contradicts the proposed new X073,

® This would be a third X0

? According to this X073 the "% and the 7"X agree concerning a X1137X N2 (that it is 791922 120 when 7% PYonR *3n,
and 771927 1 7MW when 72 pP0? v¥n RY). They disagree concerning XNIAR now. According to the p"? the law
concerning 0% is the same as by 772 (it is N2> when pL07 %1 and 7MWD when PH07 81 X [see following footnote
# 11]), however according to the 7"X an X1IIR NOW is always 71212 n2»n (as the X3 explains; a 7nn2 has a 917 and
therefore we know it is a X1139& n»773, however 7771 has no 917 and we do not know that it is an X1139% no°Y).

' There is no question from the Xn™72 of X11X N2 where it states 7222 N1 (as it was according to >"w NO73)
for the Xn»12 is discussing where 707 *¥», and there is certainly no 77°n0 from the Xn>12 of 79172 N1 XKNIWR NO°Y
(as it was according to the ‘second’ [proposed] X07) for that is what X271 maintains according to this third X077,

' See Yxmw 127, who claims that the phrase; '7°> p20m “¥n X7 3"vXY should be omitted in the 79m7 XmdOW.
Otherwise it would contradict the "%. See previous footnotes #’s 6 & 9.

12 See footnote # 4.
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